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Basic Statistics on National Population Census in 1953,1964,1982 and 1990

Bl A (10 000 persons)
5 : % b w=% ¢ IF/ 4
" = : Ttem 1953 1964 1982 1990
: First | Second | Thid | Fourth
BPROTF Total Households (10 000 households) 836.11 916.20 1233.88 1573.79
RS Family Households 1227.89 1564.88
Wik Non-Family Households 599 891
BAO Total Population 3322.69 3718.23 5401.05 6065.80
BHAO Male 1752.64 1931.70 2805.23 3149.76
AN Female 1570.05 1786.53 2595.82 2916.04
SHB R (15—49%) #Women at Childbearing Age (Age 15-49) 750.73 819.43 1301.08 1607.99
AEREN R Population by Age
L0=eR Age 0-6 669.02 706.05 701.81 869.47
T—14% Age7-14 519.19 768.91 1131.16 826.93
CHEERAD Population within Working Age 1720.75 1878.68 2936.91 3618.26
B60. &55%LlEAD Males Age 60 and Females Age 55 and Over 319.57 285.00 503.39 628.16
READ Populstion by Natioality
Han Nationality 3254.67 3589.80 5180.92 5583.42
Minority Nationalities 68.02 128.43 220.13 482.38
; Marlhl smu ct?npulnﬂn Aged 15 and Over
i Unmarvied - 5 %@ﬁ@g NS T e . 1009.86 1099.89
W. 227176  2963.86
v Widowed: 262.16 278.87
Divorced 24.31 26.77
6 PA B BEA D Population Aged & and Over by Educational Level
KEEAH University 077 24.56 20.72
KELH Three Years College 48.27
& Specialized Secondary School 4099 15364 81.82
e Senior Secondary School 404.79
e Junior Secondary School 160.27 932.53 1370.42
i Primary School 1256.03 2325.78 2552.16
FRERRFBRD Hliterate and Semi-Iliterate 1255.57 1173.52 822.76
#XH. ¥IXHAQ #llliterate and Semi-Illiterate Aged 15 and Over 1255.57 943.97 742.56
£ AD Employed Population 2827.75 3489.74
R AQ Unemployed Population 740.34 879.65
TREAD Population of Cities,Towns and Counties
m Cities 134.97 161.31 507.43 765.62
L Towns 157.57 160.79 260.00 328.20
2 Counties 3030.15 3396.13 4633.62 497198
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a.Working age range refers to 16-59 years for men and 16-54 years for women.

b. The sum of the population of the age group is not equal to the total population, because the population aged 15 is not shown and there is

population whose true age is unknown.

c. Since the quota in the four population censuses were set differently, the blank space indicates the absence of this item of the year.
d. Data in 1964 excludes the children in school aged from 6-12, thus the sum of the population at all education levels does not equal to the

population aged above six.
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